
 

 

400

300

200

100

0

 

20151050

EC g m
‐3

y=13.66x+8.76

R
2
=0.92

N=6926
OLS

20:1 line
         

400

300

200

100

0

 

20151050

EC g m
‐3

y=14.88x+5.54

R
2
=0.92

N=6926
Deming

20:1 line
         

400

300

200

100

0

 

20151050

EC g m
‐3

y=14.81x+5.71

R
2
=0.92

N=6926
Deming

20:1 line
         

400

300

200

100

0

 

20151050

EC g m
‐3

y=14.88x+5.54

R
2
=0.92

N=6926
ODR

20:1 line
         

400

300

200

100

0

 

20151050

EC g m
‐3

y=15.94x+6.80

R
2
=0.92

N=6926
WODR

20:1 line
         

400

300

200

100

0

 

20151050

EC g m
‐3

y=15.94x+6.80

R
2
=0.92

N=6926
York

20:1 line
         

OLS DR  =1

DR  ODR

WODR YR

(a) (b)

(c) (d)

(e) (f)

࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1
࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1
࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1

࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1
࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1
࣌
ࢇ
࢈
࢙_
૞
૛
૙
M
m

‐1


